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[ WriteDat() O U O O #include #include #include #include
#include #define MAX 100typedef struct{char dm[5]. /*0 O [

[ */char mc[11]. /*00 O O O */int dj. /*0 O */int sl. /*0 O */ long
je. /*J O */}PRO.PRO sell[MAX].void ReadDat().void
WriteDat(). void SortDat(){int 1,j.PRO xy.for(i=0.ifor(j=i
1.jif(sell[i].je>sell[].je]|sell[1].je==sell[j].jeamp.strcmp(sell[i].dm,sel
I[j]].dm){xy=sell[i]. sell[i]=sell[j]. sell[j]=xy.}} void
main(){memset(sell,0,sizeof(sell)).ReadDat().SortDat().WriteDat().
} void ReadDat(){FILE *fp.char str[80],ch[11].int .
fp=fopen("IN.DAT","r").for(i=0.ifgets(str,80,fp).memcpy(sell[i].dm
str,4).memcpy(sell[i].mc,str 4,10).memcpy(ch,str
14,4).ch[4]=0.sell[i].dj=atoi(ch).memcpy(ch,str



18,5).ch[5]=0.sell[1].sI=atoi(ch).sell[i].je=(long)sell[1].dj*sell[i].sl. }f
close(fp).} void WriteDat(void){FILE *fp.int i.
fp=fopen("OUT2.DAT","wW").for(i=0.iprintf("%s %s M ] J\n",
sell[i].dm,sell[i].mc,sell[i].dj,sell[i].sl,sell[i].je).fprintf(fp,"%s %s M ]
J\n", sell[i].dm,sell[i].mc,sell[i].dj,sell[i].sl,sell[i].je).}fclose(fp).}
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